Aldermaston Village Cricket Club 2011 Averages



76.19%

4

Batting:-

Mark Whitelock

Sam Clarke

Player:	Mts	Inns	Not Out	Runs	HS	Ave	40s	50s	100s	4s/6s	% In Boundries
Ben Hardy	9	8	1	188	57*	26.86	-	1	-	21/1	47.87%
Rod Howell	11	8	-	211	68	26.38	-	2	-	22/2	47.39%
Garry Masters	12	12	-	279	67	23.25	-	3	-	34 / 1	50.90%
Mike Palfrey	13	11	2	160	78*	17.78	-	1	-	21	52.50%
Josh Howell	10	10	2	93	22*	11.63	-	-	-	10	43.00%
David Bardwell	9	8	1	68	38	9.71	-	-	-	7/2	58.82%
Craig Woodley	6	6	1	43	22	8.60	-	-	-	6	55.81%
Mark Woodley	11	6	2	31	10	7.75	-	-	-	4	51.61%
Huw Thomas	9	8	2	39	14	6.50	-	-	-	3	30.77%
Paul Strong	10	6	1	12	4	2.40	-	-	-	1	33.33%
Jerry Dobson	13	9	3	17	6*	2.83	-	-	-	1	23.53%
Richard Long	8	5	1	0	0*	0.00		-	-	-	-
Played in 5 Matches	or Fewer:										
	Mts	Inns	Not out	Runs	HS	Ave	40s	50s	100s	4s/6s	% In Boundries
Ed Pettit-Mills	4	4	_	95	59	23 48	_	1	_	10 / 1	48 42%

8

2*

34.75

31.00

2 for 52

1 for 18

52.50

60.00

3.97

3.10

4.20

1 Completed Innings: James Bozarth: 38 runs Quinton Webster: 7 runs Charlie Sinton: 5 runs Will Vare: 0 runs

21

Played 2 Matches, Did Not Bat: Kevin Rapley

5

5

Played 1 Match, Did Not Bat: David Offen-James, Jeremy Ogden, Mark Vincent, Les Woodley

139

31

Bowling:-										
Player:	Overs	Mdns	Runs	Wkts	Ave	Best	Strike	Econ.	4 wkts	5 wkts
Paul Strong	27.2	4	118	8	14.75	2 for 11	20.50	4.32	-	-
Ben Hardy	40.3	8	148	9	16.44	3 for 11	27.00	3.65	-	-
Mark Woodley	71.3	20	190	11	17.27	2 for 1	39.00	2.66	-	-
Josh Howell	50	4	234	13	18.00	4 for 18	23.08	4.68	2	-
Mike Palfrey	60	6	235	11	21.36	2 for 6	32.73	3.92	-	-
Garry Masters	69	7	281	11	25.55	3 for 17	37.64	4.07	-	-
Craig Woodley	20	0	109	2	54.50	2 for 43	60.00	5.45	-	-
Bowled In 5 Matche	s Or Fewer									
	Overs	Mdns	Runs	Wkts	Ave	Best	Strike	Econ.	4 wkts	5 wkts
Charlie Sinton	7	2	14	4	3.50	4 for 14	10.50	2.00	1	-
Ed Pettit-Mills	26	6	84	8	10.50	4 for 18	19.50	3.23	1	-

4

1

Bowled In 1 match Only::-

Mark Whitelock

Kevin Rapley

Les Woodley (7-1-13-3); James Bozarth (9-2-16-2); Quinton Webster (3-1-5-1)

6

1

35

10

No Wickets Taken: Jerry Dobson (3-1-11-0); Huw Thomas (7-01-44-0); Sam Clarke (9-1-43-0); Will Vare (5-0-17-0)

Best Batting And Bowling Performances:-

Batting:-

5	n	S

305		
Mike Palfrey	78*	Vs Ashford Hill (A)
Rod Howell	68	Vs Mortimer (H)
Rod Howell	68	Vs Goring On Thames (A)
Garry Masters	67	Vs Ashford Hill (A)
Ed Pettit-Mills	59	Vs Purley On Thames (H)
Garry Masters	58	Vs Mortimer (H)
Ben Hardy	57*	Vs Bradfield (A)
Garry Masters	53	Vs Purley On Thames (H)
* not out		

4 Wicket Inns:-

Player:	Overs	Mdns	Runs	Wkts	
Charlie Sinton	7	2	14	4	Vs Bucklebury (A)
Ed Pettit-Mills	7	2	18	4	Vs Pangbourne (H)
Josh Howell	5	1	18	4	Vs Pangboure (A)
Josh Howell	11	2	31	4	Vs Goring On Thames (A)

Fielders:	Cts:-	Wicket Keepers:	Mts	Cts	St	Byes
Garry Masters	8	Rod Howell	11	4	1	67
Jerry Dobson	6	David Bardwell	2	-	-	1
Mike Palfrey	6					
Mark Woodley	6	Run Outs:				
Josh Howell	2	Vs Kingsclere (H)		(M Palfrey	- Direct)	
Paul Strong	2	Vs Pangbourne (H)	Vs Pangbourne (H) (M Woodley / D Ba			
Sam Clarke	1	Vs Ashford Hill (H) (J Howell)				,
Ben Hardy	1	Vs Yattendon (H)		(G Masters	s - Direct	:)
Ed Pettit-Mills	1	Vs Pangbourne (A)		(P Strong	- Direct)	
Quinton Webster	1	Vs Pangbourne (A)		(S Clarke	- Direct)	
Mark Whitelock	1	Vs Mortimer (H)		(H Thoma	s / R Hov	well †)
Craig Woodley	1					

Caught & Bowled M Whitelock Vs Pangbourne (H) Vs Pangbourne (H) Vs Bradfield (A) Vs Theale & Tilehurst (H) M Woodley M Woodley

J Howell Vs Pangbourne (A) G Masters

Best Partnerships			
Wicket	P'ship	Batsmen	Opposition
1st	50	Mike Palfrey (15) / Rod Howell (68)	Vs Mortimer (H)
2nd	132	Mike Palfrey (78*) / Garry Masters (67)	Vs Ashford Hill (A)
3rd	78	Rod Howell (68) / James Bozarth (38)	Vs Goring On Thames (A)
4th	17	Garry Masters (18) / Mark Whitelock (3)	Vs Kingsclere (H)
5th	55	Ben Hardy (57*) / Huw Thomas (12)	Vs Bradfield (A)
6th	27	Mike Palfrey (15) / Huw Thomas (14)	Vs Pangbourne (H)
7th	18	Rod Howell (25) / Mark Woodley (1)	Vs Theale & Tilehurst (H)
8th	30	David Bardwell (38) / C Woodley (12*)	Vs Kingsclere (H)
9th	15	Jerry Dobson (5) / Paul Strong (4)	Vs Theale & Tilehurst (H)
10th	8	Mark Woodley (8*) / Rod Howell (6)	Vs Bucklebury (A)

Other Notable Partnerships Of 40 Or Over:

Wicket	P'ship	Batsmen	Opposition
1st	45	Ben Hardy (24) / Mike Palfrey (78*)	Vs Ashford Hill (A)
1st	40	Ben Hardy (35) / Rod Howell (11)	Vs Pangbourne (A)
2nd	87	Ed Pettit-Mills (59) / Garry Masters (53)	Vs Purley On Thames (H)
2nd	87	Rod Howell (68) / Garry Masters (58)	Vs Mortimer (H)
2nd	40	Ben Hardy (18) / G Masters (21)	Vs Yattendon (H)
3rd	46	Garry Masters (58) / Josh Howell (22)	Vs Purley On Thames (H)
3rd	41	Garry Masters (53) / Ben Hardy (21)	Vs Purley On Thames (H)

^{*} unbroken partnership

Runs and Average For Each Wicket

	Runs	Inns	Unbeaten	Ave	Best	40s	50s	100s	
1st Wkt:	322	13	-	24.76	50	2	1	-	
2nd Wkt:	447	12	-	37.25	132	1	2	1	
3rd Wkt:	228	12	-	19.83	78	2	1	-	
4th Wkt:	80	12	-	6.67	17	-	-	-	
5th Wkt	131	11	1	13.10	55	-	1		
6th Wkt:	123	10	1	13.67	27	-	-	-	
7th Wkt:	37	9		4.11	18	-	-	-	
8th Wkt:	65	8	1	9.29	30	-	-	-	
9th Wkt:	62	7	-	8.86	15	-	-	-	
10th Wkt:	17	7	3	4.25	8	-	-	-	

The Duck Cup, 2011



	Number of				
	Ducks	Completed Inns	%		
Richard Long	4	4	100.00%		
Jerry Dobson	3	6	50.00%		
Josh Howell	2	8	25.00%		
Will Vare	1	1	100.00%		
Mark Woodley	1	4	25.00%		
Paul Strong	1	5	20.00%		
Mark Whitelock	1	5	20.00%		
Huw Thomas	1	6	16.67%		
David Bardwell	1	7	14.29%		
Mike Palfrey	1	9	11.11%		
Garry Masters	1	12	8.33%		

Results:-		
<u>Opponent</u>	<u>Venue</u>	Result
Kingsclere	(H)	Match Drawn Timed Match
Pangbourne	(H)	Won By 13 Runs 35 overs per side
Bradfield	(A)	Won By 5 Wickets 40 overs per side
Bucklebury	(A)	Lost By 62 Runs 35 overs per side
Ramsdell	(A)	Match Cancelled
Purley On Thames	(H)	Won By 71 runs 35 overs per side
Llamas CC	(H)	Match Cancelled
Yattendon	(H)	Lost By 62 Runs 35 overs per side
Theale & Tilehurst	(H)	Lost By 76 Runs 40 overs per side
Ashford Hill	(A)	Lost By 8 Wickets 35 overs per side
Pangbourne	(H)	Lost By 42 Runs 35 overs per side
Whitchurch On Thames	(A)	Match Cancelled
Mortimer	(H)	Match Drawn Timed Match
Reading Lawyers	(H*)	Lost By 204 Runs Timed Match
Woodlands St Mary	(A)	Match Abandoned 30 overs per side
Ramsdell	(H)	Match Cancelled
Goring On Thames	(A)	Match Drawn Timed Match
Woolhampton	(H)	Match Cancelled
Ashford Hill	(H)	Match Cancelled
Bucklebury	(H)	Match Cancelled
Bradfield	(H)	Match Cancelled
* Played At Sulhamstead		
Summary:-		
Won		3
Lost		6
Drawn		3
Match Cancelled		8
Match Abandoned - No R	Result	1
Home:-		
Played 8 Won	2	Lost 4 Drawn 2 Cancelled 6
Δινον		
Away:- Played 4 Won		Lost 2 Drawn 1 Abandoned 1
Cancelled		2

NB. Averages exclude the two shorrt games played against Wasing Farmers.